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ANSWER ALL QUESTIONS
PART-A (10x2=20 marks)

1. Define undisturbed sm’i kéample.

2. State different methods of soil exploration.

3. State the assu‘mptions made in Terzaghi’s analysis?

4. What are'the requirements of good foundation?

5. Under what situafions, raft foundations are preferred.

6. State the classifications of pile foundation?

7. List out the limitations of dynamic formula for pile capacity,
8. Explain the term Negative skin friction.

9. What do you mean by earth pressure at rest?

10. How Coulomb’s wedge theory differs from Rankine’s theory?
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Two adjacent columns are to be supported by a (1€
trapezoidal combined footing. The heavier
column carries a load of 5000kN and size of
500mmx500mm. The lighter column carries a
load of 3000kN with a size of 300mmx300mm.
The columns are 5.0m cfe. Take allowable
bearing capacity as 300 kN/m?2. Assume both the
columns are on the property line. Find the plan
dimensions of trapezoidal combined footing.

Or

Explain the choiée of types of foundation for (1€
different soils and structurak.conditions.

Explain how pile capacity has been estimated by (1€
static method, dynamic method and by pile load
tests.

Orx

A pile group consists of nine piles of 350mm (1€
dlame;tet spaced.at 1.25m apart in a square
pattern. The properties of soil are unit weight of
soil - 18.5kN/mi®, ' cohesion 24kPa, angle of
shearing résistance as 28°, adhesion factor as
0.65, coefficient of friction 0.75. Determine the
pile group capacity by using

(i)  Converse-Labarre’s formula
(ii)  Feld’s rule

A retaining wall of 8.0m high with smooth (1
vertical back retails a C-® backfill having
following properties. Draw the distribution of
active earth pressure and determine the position
of zero lateral pressure and the distance of the

3 —a

P19




[image: image4.png]centre of pressure above the base.
Cohesion = 18kPa

Bulk unit weight = 18 kN/m?.
Angle of internal friction = 28°,

Or

(b) Write short notes on

()  Graphical methods" for finding earth
pressure .
(i)  Coulomb’s wedge theory
(iii)  Limitations of Rankine’s theory
(iv)  Stability analysis of retaining walls.
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